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IF 60 ==
2F 50
R T 1989 R LR 40 &
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3. EiEA

BAEY VAN 3-8 07 742

To| &= % | P FEE " + & B A
From & * 73’ (1)
= &M A 18 18 36 54 180
T
A Tk 36 20 18 20 33
& g4 35 28 110 40 213
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To| &R F | PTEX| 2 + &AE | B

From > * * ()
E_ﬁ&:}ﬁﬂ\ 18 18 36 o4 180
» 35 28 110 7
AT JE 36 20 18 20 33

0 0 0 33
o 8 5 4 39 28 110 40 213

(#2)

(% 5 VAM iz &5 fz)

# * Stepping Stone : 3+ 5 £ F 7 & £ /%

B [21=36-18+54-20=52>0

W [22=20-18454-20=36>0

B [23=18-36+54-20=16>0

All improvement indexes > 0 therefore, achieving the optimal

solution
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Optimal solution

ZRIGRERRT 35 &
ZRpARESR T EEE 284
ZERpAESE R 1102
ZRIpPEY FRER T A

A0 FRAER 33 &

SRR 35%18+28%18+110%36+7*54+33%20=6132(p ~)

5. FH %

~The end~



